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Written Examination for appointment for Group-C posts

on Compassionate ground.

feT/Date:02.08.2024 Fo 3w Total Marks: 100
w#a/Time: 3 wer/hrs

Fgu/Instructions:

1. @8l geal & 3 ford| JU-v, go-ar, go-dr AR q9-5T A Fel 100 9= § 3R
SriCT qq H 25 g § Oea AU ves-ts 3% FuiRT FIWrite answer all the
guestions. There are total 100 questions in Group-A, Group-B, Group-C and
Group-D and each group contains 25 questions carrying one marks each.

2. Fad AeN/EHeT §id gige Ul & STIATH Y| TIR/STS UsT &l SEAATS o |
Use only blue/black ball point pen. Do not use ink/gel pen.

3. 3Ter 3 3fFd WS THG, 3T IS H Fal I ¢ AT FE/FTH FfeF 3 8
While marking your answer, darken the circle which is the correct/best answer.

4. FHRIT HaWse 3ryar et A8 iR 38 THIRH/ITed 3aY HeAl S| Uh 3O
3w Rfaa &= & fd # 39 Jgoaiaa =61 f&ar SuemiPlease do  not
overwrite or erase because it will be treated as multiple/wrong answer. In case
of marking more than one answer, that will not be evaluated.

V5. 39T H A7 U #IS o dier & ford, S 3aX qRedet H JT9eRr gl &I Yelldl &Y
& AT TR IFAART (e X & SudinDo not write your name or mark
anything which can disclose your identity in the answer sheet otherwise your

candidature will be cancelled.

6. uferm ¥ SR IFACaR @ 9SGy AlGE B HUAT FS Soldgieid doie W@
sAfa @€ &1 The candidate is not allowed to keep mobile phones or any
electronic gadgets with him during examination.
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GROUP-‘A’

Wﬁﬂﬂf%ﬁﬁﬂ?mﬁﬁﬁmﬁmgﬁulneachofthe

following questions, out of the given alternatives, choose the right one.

(25 X 1)=25

1. 9RE stafeges, 2024ﬁ%yaer;‘rmmv‘rmsﬁar?
Which country won the first Gold Medal in Paris Olympics, 20247
(A) H:T/China (B) Z.va.w/USA
(C) wrRI/France (D) Simr=/Japan

2. -7 %aamzomﬁﬁ:mﬁtﬁaﬁzrma’rﬁa%mmr?
Who was declared Man of the Match in T20 World Cup, 202431-“'\6‘]?~
(A) faRre FIgal/Virat Kohli (B) Srehid g¥R1g/Jasprit Bumrah
C) g AR A1Ea/Surya Kumar Yadav(D) g 2@ /Rohit Sharma

3. Mar R aY sIRa & 258 s geo
Goa became India’s 25 State in which year?
(A) 1986 (B) 1990
(C) 1987 (D) 1992

4. mmﬁﬁammﬁﬁmmé;mmgﬁrgmw
auid £? Kalhana's Rajtarangini in Sanskrit language covers the history
of king ruled over -

(A) s=Tret/Bengal (B) fegR/Bihar
(C) +#HR/Kashmir (D) TSTFu/Rajasthan

5. mmmmmammﬁmmmmmﬁ
f&ar? Finance Minister Smt. Nirmala Sitaraman tabled Union Budget in
Lok Sabha how many times?
(A) 5 (B) 6
(C) 7 (D) 4

Contd....P/2.
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FqFd U A FEEA (JUAS) gaRT dAR fFaAr wn Hea faw
gasis ROe 2020 A A &1 G TUH FTH W £? Which country ranked
first in the Human Development Index Report-2020 prepared by the

United Nations Development Programme (UNDP)?

(A) Tdr3+7/Sweden (B) &T4T @Ie/Hong Kong
(C) ATd /Norway (D) $1eT=/Bhutan

ST & FrfafRd § @ B s spemr W Bl afte o
ST &1 Black soil is dominated in which of the following physical
division of India?

(A) E81-31T Ferei/Indo-Gangetic Plains (B) s&hel ¢u/Decan Trap

(C) aTer™ ygrs/Himalayan Mountains (D) IR mﬂ@/Thar Desert

AAY & TesT A USB & qui & &1 87
With respect to memory, what is the full form of USB?
(A) Universal Service Bus (B) Unique Service Bus

(C) Unigue Serial Bus (D) Universal Serial Bus

Rrfaf@a & F FF 78 &1 3eH AT § §37 &7

Which of the following rivers originates from Nepal?

(A) sEAgI/Brahmaputra (B) drEan/Tista
(C) r=cii/Rapti (D) @@/ Torsa

f32d &1 I oaT AT giw AT & fREd Sgar &2 Atal Tunnels, the

world’s largest highway tunnel connects Manali with-

(A) Fe=t/Kully (B) wgter-feah/Lahaul-Spiti
(C) RHe/Shimla (D) StFH/Jammu

AR F T e & TEAIF Hid 82 Who is the founder of National
Orchestra of India

(A) el 2e/Ananda Shankar (B) & ¥&/Ravi Shankar

(C) 3T ¥/Uday Shakar (D)3FeTsah! <isht/Anoushka Shankar

Contd...P/3.
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14.

15,

16.

£

18.

i TR X -

HRA & TAHA HET Fgrareher wiq &7

Who is the present Chief Justice of India?

(A) I vg.WeY/J.S. Khehar (B) TH.U.§Is2/S.A. Bobde
C) grarg.segs/D.Y. Chandrachud (D) Tg.&faa/U.uU. Lalit

T & T S A
Who is the present Prime Minister of U.K.? ;
(A) I TWERIKeir Starmer  (B) H Fw/Rishi Sunak
(C) ST e132+7/joe Baiden (D) 3f9 &#RT=A/David Cameron

ISRO & AT HEFET FiT E2Who is the present Chief of ISRO?
(A) 3T é?ﬁanr/Dr K. Sivan (B) Sir.amfdsest AMR/G. Govindan Nair
(C) sl. vg. GHATA/Dr. S. Somanath (D) I.3R.T4/U.R. Rao

G-20 & gdAT eeT fhg dor @ &2

Present President of G-20 is from which country? |
(A) $Rd/India (B) sifaret/Brazil —;
(C) S9r=/Japan (D) sam8/Canada ;

g

%%awmimiﬁgamaawﬁﬁﬁﬁﬁmwm%?

The world’'s highest Railway Bridge will come up over which River?

(A) sHET/Narmada (B) 3M/Ganga
(C) d=Ir@/Chenab (D) sEFEgA/Brahmaputra

mmmmmmmmﬁﬁmﬂaﬁ%mﬁm
AHEVT fHar ¥, e usw & Rug g?Elphinstone Road Suburban
Railway Station which was recently renamed as Prabha Devi is situated
in which State?

(A) HABRIC/Maharashtra (B) satcsh/Karnataka
(C) afAe=g/Tamil Nadu (D) #¥T g&e/Madhya Pradesh

TUH AU THFEYE R a¥ g
First Rajdhani Express was introduced in which year?
(A) 1965 (B) 1967
(C) 1969 (D)1970
Contd....P/4.
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23.

o2 - P &

erafafag & ¥ SH-A W A Fay 93 82
Which of the following 1s the largest Railway Zone?

(A) 39T Ed/NR (B) \ET {&a/CR
(C) ufRT# T@A/WR (D) &f&mT gd Yerd/SER

fﬁmﬁ@aﬁﬁmﬁmmmmmmmﬁ
Which of the following is the largest Railway Junction in India?

(A) R=diDelhi (B) #X/Mathura
(C) sargrate/Allahabad (D) &=Tg/Kanpur
fﬁmﬁ@aﬁ@wﬁmmmmmmm

?Which of the following is the busiest Suburban Railway Network in
India?

(A) ¥e=T$ 39RO Yed/Chennai Suburban Railway

(B) @AF 3Y=1IIEA Yerd/Lucknow Suburban Railway

(C) #a$ 3uaerdry Yerd/Mumbai Suburban Railway

(D) FreEran 3 Y@d/Kolkata Suburban Railway

mﬁmﬁﬁmamﬁmﬂmﬁmmww&m
which of the following cities are located 03 Zonal Headquarters of
Indian Railways?

(A) =rererdi/Kolkata (B)1g feeil/ New Delhi
(C) Hag/Mumbai (D) Frargrél/Guwahati

wwm&m*mﬁﬁwﬁmmaﬁﬂmwﬁ?wmt is
rank of India in the world in terms of length of Railroad network?

(A) 1* (B) 2

(C) 3rd (D) 4th

Conkll_ 2ib.
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26.

27.

28.

29,

30.

dTAT gy AT?Shatabdi Express was introduced to COmmemorate the
100" anniversary of which following personality?

(A) ¥ fademie/Swami Vivekananda

(B) Fagtara A&®/Jawaharlal Nehru

(C) HgTear amtfi/Mahatma Gandhi

(D) eR seasrems g Sardar Ballavbhai Patel

Wiﬂﬁﬁmﬁ@a#ﬁﬁammmqﬁfmw’m

Which of the following is the eastern most division of Indian Railways?

(A) e1AfSaT/Lumding (B) fa=rgfawam/ Tinsukia
(C) I@rm/Rangiya (D) ®fegR/Katihar

I9-f/GROUP- ‘B’

In each of the followin questions from 26 to 30 , out of the iven
——=<dtll Ol the Toliowing c _given

alternatives, choose the one which best expresses the meaning of

the given word. :

(3 X 1)=5
EAGER

(A) Ciever (B) Enthusiastic
(C) Curious (D) Devoted
PLACID '

(A) Clear (B) Calm

(C) Enjoyable (D) Dull
AMENITIES

(A)Pageantries (B) Privilege
(C) Facilities (D) Courtesies
BARBARIAN

(A) Arrogant (B) Impolite

(C) Uncivilised (D) Unkind
SECURE

(A) Secret (B) Comfortable
(C) Safe (D) Independent

Contd....P/6.
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32,

33,

34.

35.

36.

in each of the following gquestions from 31 to 35, out of the given

alternatives, choose the one which is closest to the opposite in

meaning of the underlined word.

(5 X 1)=5
She looked GORGEOUS in her new dress.
(A) Ugly (B) Beautiful
(C) Ordinary (D) Shabby

In ancient days , a FRAGILE glass jar was considered to be more

valuable than a human slave.

(A) Broad (B) Tall

(C) Strong (D) Heavy
| ACCEPT your plan.

(A) Deny (B) Dismiss
(C) Reject (D) Decline

it was really a SINISTER move on his part.

(A) Malevolent (B) Sinful
(C) Auspicious (D) Right
GENUINE drugs are available in most of the medical shops.
(A) Harmful (B) Wrong
(C) Dubious (D) Spurious

Of the four alternatives given under each sentence from 36 to 40,
find the one that best fits into the blank space.

5 X 1)=5
From the shape of the present circumstances, he still cannot
what’'s going to happen next.

(A) Declare (B) Foresee

(C) Prognosticate (D) Prodigy
R thief was caught by the police last night.

(A) Famous (B) Popular

(C) Renowned (D) Notorious

Contd....P/7.

C\,

& e



< PR -
38 India believes in tolerance, not in.... acceptance or rejection.
(A) Alienation (B) Bigotry
(C) Prejudice (D) Aggression
39. All the employees of the firm are... . . to a fortnight’s holiday.
(A) Allowed (B) Entitled
(C) Required (D) Able

40. Ambition is one of those

41.

42.

43.

44.

45.

............ which are never satisfied.
(A) Needs (B) Ideas

(C) Passions (D) Fancies

In_the questions given below from 41 to 45, some of the sentences
have errors and some have none. Find out which part of a

sentence has an error. |f there is no mistake, the answer is ‘No
error’.

S5 X 1)=5

All the furnitures have been (A) / sent to the new house (B) /located
in a village (C) / No error (D).

The crowd of angry students (A) / ordered the (B)/closing of shops (C)
/ No error (D).

They left (A) / the luggages (B) / at the railway station (C) / No error
(D).

The polling was marred (A) / at many a place (B) / by attempts at
rigging (C) / No error (D).

My brother-in-laws (A) / who live in Bombay (B) / have come to stay
with us (C) / No error (D).

Contd...P/8.
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in each of the following questions frp. 46 to 50, some alternatives

are suggested for the idiom/phrase in italics in the sentence.

Choose the one which best expresses the meaning of the

idiom/phrase in italics in the sentence.

(5 X 1)=5
46. The meeting ended in _fiasco.
(A) succeeded (B) in confusion
(C) in complete failure (D) in acrimonious debate

47. The cricket match proved to be a big draw.
(A) a game without any result (B) a keen contest
(C) a lovely spectacle (D) a huge attraction

48. The prices are going up by leaps and bounds.

(A) systematically (B) irregularly
(C) gradually (D) rapidly

49. To find real happiness in the world is a wild goose chase.
(A) ideal seeking (B) hunting
(C) futile search (D) real aim

50. He managed to secure the job through backstair influence.
(A) sheet merit (B) hard effort
(C) strong recommendation (D) underhand means.

I9-HIGROUP- ‘C’

Prmfafed vl ¥ RY wv Rwedt § @ ¥ RFew A/In each of the
following questions, out of the given alternatives, choose the right one.

(25 X 1)=25
51. ISRO & HEATd Fel feug &/The headquarters of ISRO is located al -
(A) SETel®/Bengaluru (B) #& fesel/New Delhi
(C) 9ul/Pune (D) HaZMurnbai

Contd...P/S.
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92. AT & 3 a/Seculatism means -

(A) Torelr o &3 &) 78 "e=TNot practicing any religion

(B) sgeaify diddsi/Practicing multiple religious

(C) Tl Seam 3 a7 A ¥ o ¥dA/Freedom to join any satsang.
(D) ¢

W 3N IA et w@ETaEreedom of religion and worship.

53. WHET @ddRT 7 oMY w1 @y et grar &2

What is the noise level of normal conversation?

(A) TITHI/AbOUt60 db (B) wr@T3Ta1/About 70 db

(C) erardar/About 80 db (D) eeT8131/About 90 db
S54. 9/11 el ¥ s, R 9T [Affa acs 3 X wircaww @) a0 HET
STar & After 9/11 ragedy, the rebuilt World Trade Centre complex in
New York is called -

(A) ¥ 3¢8 ¢2 Wet/New World Trade Centre
(B) trurR e fafesa/Empire State Building
(C) a1 ae3 ¢3 We/One World Trade Centre
(D) a5 ¢ HircdFm/World Trade Complex

SS.WT%QW%aﬂa?maﬁmqﬁa%ﬁmmﬁmmaﬁm
FEATAT &/The instrument used o regulate temperature to a particular
degree is called -

(A) AT/ Thermostat (B) u#EfHre/Thermometer
(C) TRy Pyrometer (D) ¥t/ Thermocouple

56 fwafaf@d o7 sk a1 oy &9 8T &7
Which of the

following is not a Union Territory?
(A)

ISSIRI/Puducherry (B) @Eiarg/Chandigarh
(C) weTEdra/lakshadweep (D) fafFsa/Sikkim

Contd....P/10.
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57 seh-acda G fRE ay g ar
The Gandhi-lrwin Pact was signed in the year -
(A) 1930 (B) 1931
(C) 1932 (D) 1933

58 a1 #H SIS HI gfyerd STaTT fohdel gl 87
The percentage of nitrogen in the air is about -
(A) 74% (B) 76%

(C) 78% (D) 80%

59.910-alr gar &g & 9 T e &1 dg a1 aa?Which movement
was called off following the violence at ‘Chauri Chaura’ incident?
(A) f@emwa ieras/Khilafat Movement
(B) $1Ra B8l 3HigTel=/Quit India Movement
(C) 3r@gaT 3ierer«/Non Co-operation Movement
(D) 81 & 3Miaie=i/Home Rule Movement

60. 3ARTSET HHA WIS FEfA giinternational Maritime Organisation is
concerned with -
(A) arg geyuT/Air Pollution (B) ®Hg wewvT/Sea Pollution
(C) wrex wrHal 7 fAemae/Adulteration in food
(D) a=l=Hqer=1/Deforestation

61.9% T duar I H H A & frax A a& & fav gidl 87
For how many months is a cheque valid from the date of issue?
(A) 1 #A8/month (B) 2 #rg/months
(C) 3 HArg/months (D) 6 #AE/months

62 @ediX & qdf AT §/Eastern boundary of Kashmir is -

(A) TAFH/LOC (B) S/ Jamimiu
(C) urs 3fOFd HUYPOK (D) wiear@ &fd/Ladakh region

Cadntd.. Pt

q3-



R e .

63 gferorafer Yad - AT &g
3 aferoraf¥eny Yy & AEATA ®gl g /Headquarters of South-
Western Railway are located in -

(A) FITF/Bengalury gao/ i
o .3,;.; (B) garell/Hubii
(C) daan#/Belgaum (D) Rseezmama/Secunderabad

54 91T @9 R/Light vear is -
(A) TdT vd WA & drg ¢{l/Distance between the Earth and the Sun
(B) vs a¥ & garer CaNT ag &r g ediDistance travelled by light in a
year
(C) vzt SR agar & g & 3daa gli/Average distance between the
zarth and the Moon
(D) a7 & % #Ifi/None of these

i,
[ 4

5. PAN AT @ w@afda §1 PAN &1 qof &9 ar §7
PAN Is associated with income tax. What is the full form of PAN?

(A) Permanent Account Number (B) Payment Account Number
(C) Pass Book Account Number (D) g7 @ #1g AgiNone of these.

66.favg &1 g 91 HS R 5 sfiel 8/The largest lake of Soft water of
the world is -
(A) % guRI/Lake Superior (B) I RFaIR@m/Lake Victoria
(C) g&frrari/Hardaiswan (D) 89H & *I Agi/None of these

67.%@@3ﬁﬁ?ﬁ%%u¢qﬁmﬁgwaﬁ%mmﬁ
Who among the following is not appointed by the President of India?
(A) T2 ST & HqEd sarier vd waranedey
(hief Juslice and the judges of High Courts.
(B) wwdl & wrsadre/Governors of States
(C) st & Hew Farartiiy vd wafca ~urae & g
Chief Justice of india and the judges of the Supreme Court.
(D) sma & 39 yseufd/Vice President of India.

Contd...P/12.
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62 3T giwe AR &'Council of Mimister 1s liabie to
(Ay @k JH/Lok Sabha (B) Ir-a yARapva Saoha

(Cy wenarddl/ The Prime Minister(D) Trsgyia/President

69 9T AR TTUT Hgl [8Ud g?Where s Indian Instiute of Science

located?
(A) @5 Ree/New Delhi (B) #grd/Madras
(C) WsaTR/Kharagpur (D) &3Ter®/Bengaluru

70, ‘Siparras’ &7 3UIY fFeg & g o
Who was honoured with the title ‘Loknayak’?
(A) ST &I aARIIC/Jay Prakash Narayan
(B) el .ieenl/A.G. Tikri
(C) #rgrcar anti/Mahatma Gandhi
(D) SHaratenel Ag®/Jawahar Lal Nehru

71.vfUdseT |afda g/Epicentre is related -
(A) #fsd/Earthquake (B) d/Fold
(C) gzt & $fiadr smal/interior of the Earth (D) Wiee/Fault

72. Ftaf@a & @ $ia @1 TSI B 872

Which of the following fruits is the National Fruit?

(A) shega/Jack-Fruit (B) @a/Apple
(C) 3m#H/Mango (D) &ar/Banana
73 qediery fAsAfai@a @ @ fhad wafar 472

Tulsidas was the poet of which of the following?
(A) IaRd A=d/Ramcharit Manas  (B) 31fe #I=w/Adi Grantha
(C) HyHIeR/Soorsagar (D) #9ract Wvr/Bhagwat Puran

745 % §/Dry ice is -
(A) a6 &1 gal/lce-dust
(B) ater dArsersisd/Liquefied Nitrogen
(C) axsr gregiata/Liquefied Hydrogen
(D) B &Ea sEHIFaEs/Solid CO2
Contd....P/13.
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P HEAT X w300 oY g AH/Name of the Sufi Saint who was
associated wilh Akbar

(A) e 7133281 Rreel/Sheikh Muinuddin Chisti

(B) hw ‘.a';;rl‘x«'{:?gdki'1.'! Hiier/Sheikh Nizamuddin Auiliya

(C) 9l@ Heler faedSheikh Salim Chisiti

(D) ?la wla/Sheikh Farid

I9-3/GROUP- ‘D’

ﬁmﬁﬁawﬁ#ﬁﬁmﬁmﬁ#mﬂmgﬁ”n each of the

following questions, out of the given alternatives, choose the right one.

25 X 1)=25

76.33 HUA 9T @ 25 af @y B Saﬁﬁme?ﬁaﬂgﬁ
SR 81 STwar| 3 anf & ae ar &r 31 fhear gRf?Surya is 25 years
older than his son. In 5 years, he will be twice as old as his son.
What will be Surya’s age after 3 years?

(A) 20 ey 2%
(C) 45 (D) 48

77 ferfefEa & @ e ar HAChFAST) TaR 3 £2
Which of the following fractions is the highest of all?
(A) 5/4 (B) 4/3
(C) 3/2 (D) 6/5

731oa’m%:nﬁma‘rsoﬁﬂ"rﬁwm%| 15 &7 st et & 3
BIH T a’DIFIT X Hhd £/10 people can do a work in 30 days. In how
many days, can 15 people complete double the work -

(A) 20 (B) 25
(C) 40 (D) 45

Contd...P/14.
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91 100 g% & &g H 3 fFae SR ghg & rvar?How many times

does the number 3 occur in unit's place for numbers ranging from 1
to 1007

(A) 20 (B) 11
(C) 10 (D) 19

80.3Murer 100 for.#Y. ITAT AT &1 a8 W 40 fr.d. 60 r.d/ ger & afy
T Irr A ¢ AR A9 gl 60 fra /e S afy @ anr swar ¥ swa
aifa s #H/ger fFa=m g19m? Gopal covers 100 km. He travels at a
speed of 60 kmph for the first 40 km and rest of the distance at 60
kmph. What is his average speed in kmph?
(A) 44.20 (B) 45.20
(C) 46.20 (D) 47.20

81.21 3l & e & AR &M QAT 3eieh AT & SR ¢ afe v g'a 15
g, ar gull §&ar A AT -Twice the difference between two
numbers is equal to their sum. If one number is 15, find the other

number -
(A) 15 (B) 10
(C) 5 (D) 20

82.cfel el a3l @ AT 126 §1 FEE 991 HEAT WA HISAT -The sum
of three consecutive numbers is 126. Find the highest number -
(A) 41 (B) 42
(C) 43 (D) 44

83.1.128 + 1123 + 1123 =

(A) 123.453 (B) 132.343
(C) 124.643 (D) 134.643

Contd....P/15.
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iwwﬁ120mﬁwmmaﬁaﬁh3maﬂwm35

TUA A 97| 3EF Bpaer angy g§3?Karan purchased one dozen pens
for Rs.120 and sold a pack of 3 pens for Rs.35 each. What is his

gain?
(A) 16.67% (B) 20%
C) 15% (D) 33.33%

95K S T 2@ 11,000599 & @y 3t 38 13,500 39 & a7 = 38T
ufaerd amer & 22K purchased a table for Rs.11,000 and sold it for
Rs.13,500. What is his gain in percentage?
(A) 19.8% (B) 20.6%
(C) 22.7% (D) 22%

aex.mﬁﬁmwﬁrwga&a&ﬁvm%qﬁa&#aﬁaﬁaw
SIS 3R 12 a&%%msﬁammmaﬂaﬁmw%?What is
the ratio of simple interest earned on certain amount at the rate of
12% p.a. for 9 years and that for 12 years?
Ay 1:2 (B)2:3
(C)3:4 (D) 4:5

3HFT AT g AT Hifarera farmer purchased a piece of land for
Rs.18 lakh and spent Rs.3 lakh for registration, fencing etc. He sold
it for Rs.24.57 Jakh. Find his profit in percentage?

(A) 15% (B) 14.15%

(C)16.5% (D) 17%

feast is organised for a group of 100 people. In this feast 50 people
do not like fish and 60 people like chicken. 10 people like neither
fish nor chicken, How many people like both the fish and chicken?
(A) 20 (B) 30
(C) 40 (D) 10

Contd...P/16.
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Ssawza@ﬁagﬁﬁmmm%agﬁmﬁﬁm%%%w%x
30 Td # agat AR asfeal &1 3ad a2 22In a school, 10% of
boys |s equal to % of the number of girls. What is the ratio of the
boys and the girls in that school?

(A) 3:2 B)y5 :2
) 2 ;1 (D) 4 : 3

90 e & Th IE] 220 TA H a1 AR 10% FT A HATATI 30% T TH
FaS F v 30 =¥ fgen & Jgar aifigu?Nita sold an article for
Rs.220 and earned a profit of 10%. At what cost should she sell to
earn a profit of 30%?

(A) ¥./Rs.220 (B) ¥./Rs.230
(C) %./Rs.260 (D) ¥./Rs.280

91.U% FEe H 40% Afgen wAarlr §1 39 FEeT & 40% A 3R
60% TSt & A a7 A Hcder fohar| AY ga7 H FI FAT 1 gfaerd fBhcem
&€?There are 40% women workers in an office. 40% women and 60%
men of that office voted for in my favour. What is percentage of total
votes in my favour?

(A) 24 (B) 42
(C) 50 (D) 52

92.7% I & HAT 100 T9X &l TR HAT 7 ggel 10% T Jafy &A1 A
& 3R O 10% &1 gefer & snelr §1 frae w0 $7 gefer & a1$ §2There
is an article of Rs.100. Its price is raised initially by 10% and then
again by 10%. How many rupees have been increased?

(A) 20 (B) 21
(C) 110 (D) 121

92.10 =afFd v §aR 8 R H 5o T ¥ fraey afFa =@ &ar &1 3
&1 & = "t 8210 persons can build a wall in 8 days. How many
persons can build this wall in half day?

(A) 80 (B) 100
(C) 120 (D) 160
Contd...P/17.
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24150 #Hex st v YeEmEr 90 FrEll/eeT 1 afa & v Yo g A 26
e A 9 wadr &) zg 9 #T FaE fFAl B2A train of 150 meters
crosses a railway bridge in 26 seconds at a speed of 90 km/hr.
What is the length of this bridge?

(A) 500 ArX/meters (B) 60 HeI/meters
(C) 650 #Hzl/meters (D) 550 #HreI/meters

%Aamsm-mﬁrmmaﬁsaﬂﬂzﬁaﬁcmwwiﬁ afe a
e F1H A 358 A8 FH qU R F e a5a SA and B
can complete a piece of work in 6 and 12 days separately. If they
work jointly, how long will they take to complete this piece of work?
(A) 9 &=i/days (B) 18 f&a/days

(C) 6 f&=/days (D) 4 &=/days

96 100 X 10 - 100 + 2000 = 100 = ?
(A) 29 (B) 920
(C) 980 (D) 1000

97U SIS eaer 1 3ifRa HET 6000 T ¥ 3R =/ e #5500 T
& 997 1T 3 ¢ W & 7 Fe T &7 F4T $2Marked price of a
dinning table is Rs.6000 and it is sold to a customer for Rs.5500.
What is discount rate given on that table?

(A) 10% (B) 8 1/3%
(C) 8% (D) 9%

98 A TH 9T 39t AT & 25 a9 BIer § 3R Rar 4 af gga 45 av F 2,
dar 5 a¥ are faar 3R 99 1 Fo 3 F=41 gEM2IF a son younger than
his father by 25 years and the father was45 years of old 4 years ago,
what will be the total age of the father and son after 5 years.

(A) 82 a¥lyears (B) 88 a¥/years
(C) 83 a¥/years (D) 78 aulyears

Contd....P/18.
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96 e FATTE AvE gt F AR 398 § ggeh IEw ¥ 20 HfUS g @
Ty Ear AT £2A sum of three consecutive odd numbers is 20 more
than the first number of these. What is the middle number?

(A) 7 (B) 8
(C) 12 (D) 9

100. afe Frd FEaT & @ 28 Ho Y ANwd HedT 1 va-faee a9 A
FEar F1 50% AT £2If on subtracting 28 from a number, the
remainder is one-third of the number. What is 50% of the number?
(A) 23 (B) 24
() 22 (D) 21

g(\,




Office of the Principal Chief Personnel Officer
Eastern Railway, Kolkata

Written Examination for appointment for Group-C (Level-2 & above) on
Compassionate Ground

Date: 24.09.2024 Time: 03 hrs. Total Marks: 100

Instructions to the candidate in connection with suitability test for CGA
scheduled to be held on 24.09.2024:

(Candidate must read the Jollowing instructions carefully and signed
before attempting the paper)

1. Candidates should fill the particulars in own handwriting in the space
provided in the OMR Sheet and should not write such particulars
anywhere else.

2. Don’t write your name or any other indication anywhere in the OMR
Sheet or loose sheets except where it is specified.

3. OMR Sheet will not be taken up for evaluation, if any distinguishing
marks are found anywhere in the OMR Sheet.

4. Answers to be written by darkening the oval spaces in OMR Sheet
only.

3. The candidate should use either blue or black ink pen/ball pen. All the
answer should be answered with same colour of ink used for writing first
page of OMR Sheet. The candidates should not use different colours of
pen such as green, red, etc. for making any marking on the OMR Sheet.

6. Any cutting/ correction/ overwriting / erasing etc. of answer in the OMR
Sheet is not allowed and no marks will be given for such incident.
i The candidate is not allowed to keep mobile phones or any electronics

gadget during examination.
The candidate should fill ONLY the chosen option for each question.
ZERO mark will be given for answers having corrections/ overwriting.

0. In case of any confusion, the English version of question paper will be
treated as valid for interpretation.

il



GRUUP - A

GENERAL KNOWLEDGE (25 x 1 mark = 25 marks)

Capital of Uttarakhand?

Jaipur B) Dehradun
Haridwar D) Shimla

Fatehpur Sikri was built by

Akbar B) Shershah
Babur D) Shah Jahan

At which place on earth are there days & nights of equal length always?

Poles B) Prime Meridian
Equator D) Nowhere

Where did Gautam Bhddha attain Parinirvana ?

Lumbini , B) Sarnath
Kushinagar D) Bodh Gaya

Which of the following stations was formerlykﬁown as Mughalsarai?

Churchgate ;' B) Mu’mbéi Central
Lokmanya Tilak Terminus - D) Deen Dayal Upadhayaya
Dry ice is? S ' 17

Ice-dust B) Liquefied Nitrogen
Liquefied Hydrogen D) Solid CO,

‘Pamir’ is called

Cold Desert B) Roof of the World
Land of Moon-scapes : D) None of the above.

World Environment Day is celebrated on:

2nd October B) 8t March
S5t June D) 14th November

Jawahar Tunnel, also called Banihal Tunnel connects?

Manali with Shimla B) Jammu with Kashmir
Leh with Manali D) Kashmir with Leh



13.

A)
C)

14.

A)
C)

15.

A)
C)

16.

A)
C)

17.

A)
C)

18.

A)

19,

A)
C)

Which of the following rivers originates from Tibet?

Ganges B)
Narmada D)

Brahmaputra
Subarnarekha

Border Roads Organization is under which Ministry?

Ministry of Civil Aviation B)
Ministry of Defence D)

Light year is -

Distance between the Earth and B)
the Sun

Average distance
Earth and the Moon

between the D)

Ministry of Railways
Ministry of Coal

Distance travelled by light in a
year
None of these.

Who has written the National anthem of Bangladesh?

Jibananda Das B)
Michael Madhusudan dutt D)

The study of Earthquake is known as

Entomology _ B)
Biology D)
Who is known as ‘Little Master’?

Sunil Gavaskar B)
Sourav Ganguly D)

Rabindranath Tagore
Sukanta Bhattacharya

?

Seismology
Virology

Viswanathan Anand
None of these

The book ‘ My experiment with truth’ was written by

Debendranath Tagore
Mahatma Gandhi

Chlorophyll is the natural compound present in green plants that helps

Amrita Pritam B)
Jawaharlal Nehru D)
plants in

Osmosis B)
Respiration D)

PhdtoSynthesis
None of the above

Onam is a major annual festival of which state of India?

Bihar
Kerala D)

Diesel Locomotive Works is located at

Lucknow
Kanpur

B) Arunachal Pradesh

Gujrat

B) Varanasi
D) Yehalanka



20. Who enforces the Model Code of Conduct during elections?

A) Central Government B) Election Commission of India
C) Parliament D) Supreme Court of India

2l Who invented aeroplane?

A) Wright Brothers B) Victor Tatin

C) Alberto Santos D) E. Lilian Todd

22, Ustad Bismillah Khan is associated with which musical instrument?
A) Veena B) Shehnai

C) Sitar _ D) Flute

23! Full form of Al

A) Artificial Intelligence B) Added Intelligence
) Arithmetic Intelligence D) Automatic Intelligence
24. Famous Tennis player Novak Djokovic belongs to which country?
A) Serbia 4> 0 B)?g:;.;,Cr_patia
C) Ukraine 45 Dl Russia
25. Headquarter of the International Courtof Jﬁsiice is located in
A) New Delhi N Th}iHegue
C) Geneva o gmcess s e MeW York
GROUP - B
ARITHMETIC ( 25 Marks )

26. If the base, height and hypotenuse of a Right-Angle triangle is 3 cm,‘ &
cm and 5 cm respectively, then the area of the triangle is

(2 marks')A
A) 7 sq cm B) 8 sqcm
C) 6 sq cm D) 15sqcm
27. Which of the following fractions is the smallest of all?

(2 marks)
A) S5/4 B) 4/3
C) 3/2 D) 6/5



28 -F

25,

C)

30.

A)
C)

31.

A)

34.

A)
C)

35.

A)

2

{ ‘S U 448

Twice the difference between two numbers is equal to their sum. If one
number is 15, find the other number.

(2 marks)
15 B) 10
b D) 20

A train of 150 metres crosses a railway bridge in26 seconds at a speed
of 90 km/hr. What is the length of the railway bridge?

(2 marks)
500 metres B) 60 metres
650 metres D) 550 metres
1.123 +11.23+112.3 = (2 marks)
112,223 B) 1246.53
124.653 D) 1246.63

Pipe A and B can fill a tank in 5 and 6 hours respectively. Pipe C can
empty it in 12 hours. If all the three pipes are opened together, then

the tank will be filled in: (3 marks)
1 13/17 hours B) 28/y; hours
3 9/17 hours D) 4 % hours

16 men can finish a piece of work in 49 days. 14 men started working
and in 8 days they could finish certain amount of work. If it is required
to finish the remaining work in 24 days, how many more men should be
added to the existing work force?

(3 marks)
24 Men B) 20 Men
14 Men ' D) 28 Men

Lalbabu sold an article at a loss of 20%, had the selling price of the
article been 200 more, there would have been a profit of 5%. What is

the cost price of the article (3 marks)
Rs.600 -~ B) Rs.760
Rs.800 D) Rs.840

A sum of money is divided into A, B and C in such a way that sum of
shares of A and B, B and C, and C and A are respectively Rs.20, 24 and

28. What is the share of A? (3 marks)
4 B) 12

18 D) 10

Find the compound interest of Rs.10000/- in 2 years at the rate of 8%
per annum. (3 marks)
1200 B) 1546

1664 D) 1624



GROUP - C
ENGLISH

36.

A)
C)

37,

A)
C)

38.

A)
C)

39.

A)

40.

A)
C)

oy 8

A)
C)

42.

A)
C)

43.

A)
C)

44.

Write Synonym (Similar in meaning)

Rough

Coarse
Rational

Ambiguous

Submission
Equivocal

Impaired

Tired
Lovely

Lament

Sad
Frail

Assent

Joy
Will

Write Antonym (Opposite in meaniﬁgl

Stagnant

Loud
Slow

Ajar
Eccentric

Cautious

Abdicate

Accept
Turbulent

Evade

Escape
Allow

B)
D)

B)
D)

B)
D)

B)
D)

B)
D)

B)
D)

B)

D)

B)
D)

B)
D)

(5 x 1 mark = 5 marks)

Judgement
Agree

Movement
Allow

Damaged
Livid

Complaint
Fragile

Boil

Consent

{5 x 1 mark = 5 marks)

Big
Flowing

Closed
Timid

Chaos
Casual

Direct
Confront



46.

A)
C)

47.

A)
Q)

48.

A)
C)

49,

A)
C)

50.

A
C)

Procrastination

Royal B)
Rough D)

Choose Appropriate preposition

Promptness
Calm

(S x 1 mark = 5 marks)

We must carry __ despite the challenges we came across.

For B) From

On D) In

He is sure to appeal __ the judgement, since it was unfavourable to
him.

From B) To

Against D) On

The experienced doctor found it easy to deal young patients.
To B) With

On D) Against

The fresh college graduate jumped the first offer of a job.
For B) Of

In D) At

It is not easy to keep with the rapidly changing fashions.
Of B) By

Up D) For

Find the meaning of idiomatic words

ol.

A
y: C)

o2,

A)
C)

S3.

A
Q)

By hook or by crook
Without delay B)
By unfair means D)

Bone of contention

Cause of quarrel B)
To bully D)

Eat one’s words

Upright B)
Die while working D)

(5 x 1 mark = 5 marks)

By one means or other
Very close

To get into trouble
Point of no return

To quarrel
Take a statement back




54. = Good Samaritan

A) Support one another B) One who helps strangers
C) To prepare for hard work D) An unreliable person

o5, Hit the jackpot

A) Unexpected success B) A bribe

C) Suffer loss D) In a dilemma

Find the correct one work substitution (5 x 1 mark = 5 marks)
56. A person appointed by two parties to solve a dispute.

A) Atheist B) Arbitrator

C) Curator D) maiden

a7-. One who lives in seclusion

A) Teetotaler B) Bigot

C) Recluse D) Novice

58. A group of worshippers

A) Congregation g B) Crew

C) Band g - D) Block

59. Murder of King or Queep. ..~ ...}

A) Filicide oot . B) Génovide

) Patricide "; A ‘D). Regicide

60. A place for lunatics and political refuigees

A) Aviary ~ ___B) Casino

C) Asylum D) Stable

GROUP - D

Current Affairs (25 x 1 mark = 25 marks)

61. Who is the present Chairperson of UPSC?

A) Arvind Saxena B) Manoj Soni

C) Preeti Sudan D) Manoj Kumar Sharma

62. iGOT Karmayogi Platform is an online learning portal launched for
which category of people?

A) MSME B) Street Vendors

C) Sanitary Workers D) Govt. Officials



A)
C)

68.

A)
C)

69.

A)
C)

70.

A)

Y

i 1

Who is the present General Manager of Eastern Railway?

Shri Arun Arora B) Shri Milind K Deouskar
Shri A. K. Mishra D) None of the above.

Which country own the ICC Men’s T20 World Cup

Afganistan B) England
India D) Australia

Which team has own 2024 Durand Cup?

Mohun Bagan B) East Bengal
Salgaocar FC D) North East United

Who won the Gold Medal in Paris Olympic Men’s Javelin Throw’?

A Nadeem B) N Chopra
A Peters D) J Vadlejch

Who is the first Indian woman to win two gold medals at the Paralympic
games? " o

Parnav Soorma B) Avani Lekhara
Preethi Pal D) Sheetal Devi

Who is the present External Affairs Minister of India? |

Nirmala Sitharaman B) Amit Shah

S. Jaishankar D) Rajnath Singh
Who is the present President of United States?

Donald Trump B) Joe Biden
Barack Obama D) Kamala Harris

Deepest Metro Station in India is

Howrah B) Esplanade
Dum Dum : ' D) Mahakaran

Ratna Bhandar (Treasure Room), which was seen in the news, is in
which famous temple?

Padmanabhaswamy Temple B) Puri Jagannath Temple
Yamunotri Temple D) Laxmi Narayan Temple

‘Operation Sarvashakti’, recently seen in news, launched by which
armed force?

Indian Army B) Indian Air Force
Indian Navy D) Indian Coast Guard



73. °

A)

74.

A)
C)

75.

76.

A)
C)

o,

A)
C)

78.

A)
C)

79,

A)
C)

80.

A)
C)

&1,

A)
C)

The Gyanvapi Mosque is located in which city?

Delhi B) Bhopal
Mumbai D) Varanasi

BSF implements Beehive Strategy to curb raising border crossing in

Indo-Bangladesh border B) Indo-Pakisthan border
Indo-Mayanmar border D) None of the above.

Full form of CAA is

Citizenship Amendment Act B) Citizenship Amendment Article
Central Amendment Act D) Central Amendment Article

NASA recently annoﬁnced that it will bring back astronauts Sunita
Williams and Butch Wilmore in

December 2024 B) January 2025
February 2025 D) March 2025

Recently, Port Blair has been officially renamed to

Swaraj Dweep B) Peacock Island
Sri Vijaya Puram £ D) ! NetaJ1 Subhash Chandra Bose

Vinesh Phogat, who recently dlsquallﬁed from parls Olympics 2024, is
associated with which sports

Boxing ”\f‘._ 3 B) Bacirmnton
Table Tennis i A Wresthng

Recently, which space organization announced plans to build the first
railway statlon on the Moon for efficient payload transportation?

NASA B) ISRO
JAXA : D) ESA

Recently, where was the Indian Air Force tested the airdrop of the
indigenous mobile hospital, “Bhishma Cube”?

Varanasi B) Agra
Ayodhya D) Lucknow

Who is the present Vice President of India?

Om Birla
Sudha Murty

Amit Shah B)
Jagdeep Dhankahar D)

10



82 Recently Turkey seeks membership of which group?
A) UN B) BRICS
C) NATO D) SAARC
83. What is another name for India VIX’, recently seen in news?
A) Fear Index B) Finance Index
Q) Dark Index D) Stock Index
84. What is ‘Ligdus gravel’, recently mentioned in the news?
A) Aircraft carrier B) New species of jumping Spider
C) Invasive weed D) New variety of frog species
85. Kami Rita, who recently became the first person in the world to climb
Mount Everest 29 times, belongs to which country?
A) India B) Bhutan
C) Nepal D) Myanmar
X

11
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21s

A)
C)

224

23.

A)
C)

24.

A
c)

Z25.

26.

A)
C)

27,

A)

ﬁﬁfﬁ%ﬁﬂ?{mﬁwﬁﬁmﬁﬁm_mg?

Fg ATHIL B) s A= amam
aqs D) oS & Igad AT

mmmmﬁw%ﬁ%ﬁmm?

ge 7eH B) fasex &fem
et Hew D) ¢, farfor &1

Wﬁf@—v‘vﬂgwﬁmqﬁﬁmﬂ%@@

tom B) &

BEL , D) &

Al =T qot &7 ford|

Artificial Intelligence B) Added Intelligence
Arithmetic Intelligence D) Automatic Intelligence

o >Frer Rt v e e 2 8 82

& et - i
ST P
SERINGE

(25 &)
v&@mwmm,mmmmm3%.,4@@.@5.%%,&

FRrsget 7 SR T 82 (2 &%)
7 T I, B) g & ¥l

6 it T, D) 15 a3 dHl.
ﬁaﬁ%ﬁﬁﬁaﬁwmﬂﬁmﬂaﬁm%’? (2 &F)
5/4 B) 4/3

3/2 D) 6/5
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A)
Q)

32.

A)
C)

33.

A)
C)

34.

A)
Q)

a1 "WearAl FT A I Alg F AT g1 AR U | 15 g, al gAYl JeT {1

(2 3)
15 B) 10
5 D) 20
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FIAT & A1 Terd g it Fare Al 87 (2 =)
500 Htex B) 60 diex
650 HiZx D) 550 "iex
1,123 4 11.23+ 112.3 = (2 3)
112.223 B) 1246.53
124.653 D) 1246.63
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AT gl Al AT TSI TH AT @i AT, a7 &F 9 § Fohaem o617 SoRmn? (3 39)
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4 B) 12
18 D) 10
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35. 8% SIfd a9 #1 2% & 2 a6l ¥ 10000/ - ¥94 F1 FFH T =TS 7797 FHHOY

A) 1200 B)

Q) 1664 D)
AT #Hi
ENGLISH

Write Synonym (Similar in meaning)

36. Rough

A) Coarse B)
C) Rational D)
37. Ambiguous

A) Submission B)
C) Equivocal D)
38. Impaired

A) Tired B)
C) Lovely D)
39. Lament

A) Sad

C) Frail ;

40. Assent ¢

A) Joy ;

C) Will L

Write Antonym (Opposite in meaning)

41. Stagnant

A) Loud B)
C) Slow D)
42.  Ajar

A) Eccentric B)
C) Cautious D)
43. Abdicate

A) Accept B)
C) Turbulent D)
44. Evade

A) Escape B)
C) Allow D)

1546
1624

Judgement
Agree

Movement
Allow

Damaged
Livid

Big
Flowing

Closed
Timid

Chaos
Casual

Direct
Confront

(3 &%)

(5 x 1 3% = 5 3{=)

(5 x 1 3% =5 3fF)



45

46.

A)
C)

47.

A)
c)

48.

A)
C)

49,

A)
C)

50.

A)
C)

Procrastination

Royal
Rough

Choose Appropriate preposition

We must carry

For
On

He is sure to appeal
him.

From
Against

B) Promptness
D) Calm

(5x 1 3® =5 &F)

despite the challenges we came across.

B) From
D) In

the judgement, since it was unfavourable to

B) To
D) On

The experienced doctor found it easy to deal young patients.

To B) With

On D) Against

The fresh college graduate jumped the first offer of a job.
For B) Of

[n D) At

It is not easy to keep with the rapidly changing fashions.
of B) By

Up D) For

Find the meaning of idiomatic words

S1.

A)
C)

S2.

A)
C)

33.

A)
C)

o54.

A)
C)

By hook or by crook
Without delay
By unfair means

Bone of contention

Cause of quarrel
To bully

Eat one’s words

Upright
Die while working

Good Samaritan

Support one another
To prepare for hard work

5x1 3T =53F)

B) By one means or other
D) Very close

B) To get into trouble
D) Point of no return

B) To quarrel
D) Take a statement back

B) One who helps strangers
D) An unreliable person

\(\6'6'



59. Hit the jackpot

A) Unexpected success B) A bribe
C) Suffer loss D) In a dilemma
Find the correct one work substitution (5x1 3F =5 3%
56. A person appointed by two parties to solve a dispute.
A) Atheist B) Arbitrator
Q) Curator D) maiden
57. One who lives in seclusion
A) Teetotaler B) Bigot
C) Recluse D) Novice

58. A group of worshippers

A) Congregation B) Crew
C) Band D) Block
59. Murder of King or Queen
A) Filicide B) Genocide
C) Patricide D) Regicide
60. A place for lunatics and political refugees.
A) Aviary ;i‘ B) Casﬁ};o
C) Asylum D) Stabl"?
A= €t ‘. et ;
e AHad e (25 x 1 3 = 25 3iF)
61.  ydfiuwsf & adam steae 7 &2
A) sfde T B) wAIS |
C) fifa qe= D) wHIS FHIK aHi
62. iGOT FHART wewd & aoft F et & fore o= B war us sifqers afq T
A) THUHTHE B) geury fEsear
C) oAl FHAT D) &l FTHE

63. o Y3 ¥ aduT wETEYT Fi4 22

A oft s s B) sft frfefe ¥ 3seaw
C) sfruFfiem D) = & FE 7k



64.

AJ-
C)

65.

A)
Q)

66.

A)
C)

67.

A)
C)

68.

A)
C)

69.

A)
C)

70.

A)
C)

Tl

A)
C)

72.

A)
C)

73.

A)
C)

arEift qeat 1 8-20 fas w0 B 29 3 AT g? (us -

B) ez
2024 g7 79 | &9 7 a1 g?
B) = dwme
el D} e e
Ui e qew e S gfaerat § sl g7 e S 22
B) UA FI9ET
gﬁ D) S=awr
Treifis @it § ¥ w9l Ias Sftae arett agelt A qiger w19 §2
B) sradt s
AR D)
WA & qauE faaa 7=t #9 §2
AT darmo B) :ﬂﬁ?rm.
T, AAGHFT D) Ty foig
YT T AHTCHT & FAHT TP HI £2
T B) sirfa==
m% D) wwar g
AT T qa® T Hel #2407 Hie a7 87
B) uwmaT
g D) e
T WETX (GSTIHT Fe), St @a<t # g7 74 av, e 9 dRke § 82
qRATHEETHY #feT B) ot sty wfew
AT wfaT D) eesft Aoy wfex
BT € | Gadt # T siaer wdetn ' e aere @ gy 0 fr 22
I 8T B) Tt avg v
AT AT D) i devers
sraTdt wfeere e org & feue 27
ety B) «mTer

LER) D) amrorft



74.

A)
C)

795.

A)
C)

76.

A)
C)

7,

A)
C)

78.

A)
C)

79.

a

80.

A)
C)

81.

A)
C)

82.

A)
C)

mﬁmmwaﬁtﬁmwzﬁmwaﬁwmﬁ%mm
TorETT AR A 87

AA-a AT HHT B) s arfEEar #mn

- AT T D) = & F€ TE

CAA FTT0 &9 FT1 87

Citizenship Amendment Act B) Citizenship Amendment Article
Central Amendment Act D) Central Amendment Article

Wﬁmﬁﬁa}wﬁm%ﬁﬁaﬁmﬁamﬁwﬂmﬁﬁmaﬂ?@ﬁwﬁﬁ

¥ AT AT
fawae 2024 B) swad 2025
s 2025 D) A= 2025
@ﬁ@ﬁ.qﬁaﬁmmaﬁwﬁmmaw___ﬁﬁmwgl
= G B) #ETE
oft farsra D) ey T 5w A &

ﬁﬁww.ﬁ%m@ﬁ&&ﬂéﬁﬁmzo%ﬁmeﬁﬁaﬁmw.méﬂ%ﬁ%
87

LETIEl B) #=fie
e 2R D) et

ma&,mmw%wmm%mmwmmémmﬁ
FrsreT Y o it g7 ,

qTET B) =&
SUTHFT D) fuEy

maﬁmmam%a%ﬁmmm,"ww%wﬂﬂmw
T 87

FTETOTHT B) &
AT D) @@=
T 3 AAATT IT T FA 87

Ffad 4Tg B) & faEer
A S D) T

m@ﬁgﬁ%ﬁmmﬁmmﬁﬁ?

H<H Y B) fa=a
GG D) &%

10



64.

A) -

C)

65.

A)
C)

66.

A)
C)

67.

A)
C)

68.

A)
C)

69.

A)
C)

70.

A)
C)

71,

A)
C)

72.

A)
C)

73.

A)
C)

(43 &
arEdTet gt 1 8-20 fFrea w9 2o 3 Sfar 22

B) e
AFATAEAT i
AT SRR
2024 iz F & & 7 sfar 272 .
B) f=dam«
WWWM D) mﬁ%ﬁ‘!ﬁ";@’
i ' gfaeTaf § =l a5s
Ao T AT S
e B) uA =gET
so. D) &wedw
u fed
e AT AT F11 87
; F 3 21wl e S areht TEe
= B) st @@
e D) sfraer 2t
fifer arer
AT & qau faeer w=ft # £2
e Srarogr B) arﬁ?fang.
i D) wrsmTy fiig
UH. TAGHT
HYTH T AATHT & FdAT Tgafa wi §2
THTeE B) s fase
ahg; D) wern gfta
ERAED
W T He# T WET WA Hi a7 27
B) uwemEAT
o D) wgrar
T |
raﬁm(ammam,@ﬁaaﬁﬁﬁmwm,ﬁmmnﬁﬁr%?
TRATYEETHT § B) STy G
mfﬁ'sﬁ#ﬁtqﬁ-{ D) ggﬁa'rcmwvﬁ'{
BT E1 ¥ Gal § Tg1 Afaer wdarfy ' e e g g R w22
et B) wrefig arg &=
j’gﬂ D) wrfa qevers
gt
STt witsrs e o # Rua 22
faeeft B) sume

LEE D) aTrory



2T 81 H mavt § ey TR VIX w5 gmer avw o 27

A) v T2 B) wrzew Izam
Q) o T D) wi% g
84 2T 81 7 gwrar § et forrew 3 w2 22
A) TTHTE HIaT B) F@ areft w6t €1 9¢ worrfaat
C) EREIREEIS D) #Hes &t 7€ yorrfaat
85. STt T, ST g § H 29 AR ATIT WEiE U7 wa areft g Y wgelt =ity o+, G 2
A) IR B) =
C) BRI D) =HR
X
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